HA B :2025/5/25 17:19
kb 7

BIMEAEH B :20254F05H25H (H)
S 1 SHY T RRNT 36,0 £of36. 0 PALA—n ouT3 4 5 7 8 9
ZaATH oy kb o8— 43 ZIMNE D BME48 N HMETAN BEFIGEA INI11 13 14 15 16 17
il —=  :0UT IN NERLIRTE FIE T4 Ao bRy

GROSS | HDCP NET | owossie = 12000660 ® OUT HOrBOLOLO OIS IN
JEAE 72)}[]%‘15%% ouT IN PAR 5 3 5 5 3 4 3 4 4 4 5 3 5 3 3 4 4 5

Average 5.7 3.4 5.9 57 3.4 4.8 3.8 48 45| 42.(0 |45 56 3.4 58 3.6 33 46 46 56| 40.9

1 AR HTRR 36 42 78 8.4 69. 6 5/3[5[5[3[4]3]4]4] 36 [®8]3]7]3]3][5[5[5] 42
2 |\t —iE 36 40 76 6.0 70. 0 5/3/5|5[3[4[3[4]4] 36 [®|5]4]6]6][3]/4]5|@] 40
3 [ HEsL 36 40 76 6.0 70. 0 5/3[5/5[3[4/3[4]4] 36 [4]5]3[6/4/3/6/5/@] 40
4 | EAR E2 36 36 72 1.2 70. 8 5/3/5|5[3[4[3[4]4] 36 [4]5]3][5[4[3]4]4|@] 36
5 db 5 18R 36 42 78 7.2 70. 8 5/3/5/5[3[4/3[4[4] 3 [4/6/3/8|/5/3/5|®|5]| 42
6 |JEE Fk 36 47 83| 12.0 71.0 5|/3|5|5[3[4]3[4|4] 36 [4]7|4]8|4]4|6|5|5]| 47
7 KE E 36 47 83| 12.0 71.0 5/3/5/5[3[4/3[4]4] 36 [4]7]3]/6/5/4/5/7/6] 47
8 | KM AL 36 40 76 4,8 71.2 5/3/5|5[3[4[3[4]4] 36 [4]6]3]6[3[3]6]4]5] 40
9 = =5 46 36 82| 10.8 71.2 5/4/6/6[3/4]6[6|/6] 46 [4]5/3|5[/3/3/4]/4]|5] 36
10 |fEAT 18— 45 36 81 9.6 71. 4 5/3]/7/8[3|5[4|5[5] 45 [4]5]3[5]/3]3]/4]4]5] 36
TR 36 51 87| 15.6 71. 4 5/3/5/5[3[4/3[4[4] 3 [5/7/4/7/5/5/6/8|@| 51
12 |55 HEHI 36 44 80 8.4 71.6 5/3/5|5[3[4]3[4]4] 36 |5]/5/3]/8]/4|3|5|6|5] 44
13 |1 H FEF 50 36 86| 14.4 71.6 6|3/719]4/4]4]7]6] 50 [4]5]3[5/3/3/4/4/5] 36
14 | &1L B4 36 37 73 1.2 71.8 5|/3[5]5[3[4]3[4]4] 36 |5]/6|/3]/6[3[/3|®]4]|@] 37
15 fh 43 36 79 7.2 71.8 6|3/5/6[4[4]4[7]4] 43 [4]5]3[5/3/3/4/4]/5] 36
16 | = & 36 43 79 7.2 71.8 5/3/5|5[3[4]3[4]4] 3 [4]6]/3]/5|5|/3|6|5|/6] 43
17 | KRE 3 — 49 36 85| 13.2 71.8 5/4/8|7]6|5/4[5]5] 49 [4]5]3[5/3/3/4/4/5] 36
18 [fud: ¥&= 36 49 85| 13.2 71.8 5/3/5|5[3[4[3[4]4] 36 |5]7|®@]7]7]3]/5/8]5] 49
19 HE =X 42 36 78 6.0 72.0 5/3/6/6[5[5/4[4]4] 42 [4]5]3[5/3/3/4/4]/5] 36
20 |PHER [+ 36 42 78 6.0 72.0 5/3/5|5[3[4]3]4]4] 36 [5]/5]/3]6|4]|4|5|5|5] 42
21 YkE R 36 42 78 6.0 72.0 5/3/5|/5[3[4]3[4]4] 3 [5/5/3/6/3/3|/7|/5|/5]| 42
22 |FnH W7 36 42 78 6.0 72.0 5/3[5|5[3[4]3][4]4] 3 [4]|@|3]7]5|/3|5|5|/6] 42
23 | BpH 5] 41 36 77 4,8 72.2 514715344 5]4] 41 [4]5][3][5/3/3/4/4/5] 36
24|85k E# 41 36 77 4,8 72.2 635|734 4]4]5] 41 [4]5]3][5]3[3][4]4]5] 36
25 iR 2 41 36 77 4,8 72.2 713[5[5[3|®[3]7|5] 41 [4]5]3][5[3[3/4/4/5] 36
26 |H F f# 36 41 77 4,8 72.2 5/3[5|5[3[4]3]4]4] 3 [4]6]4]7]4|®@]|5]4]5] 41
27 R RE 36 41 77 4,8 72.2 513/5|/5[3[4]3[4]4] 3 [4/5/3]/6/4/4/4]/5/6]| 41
28 | Efs HAdT 36 47 83| 10.8 72.2 5/3|5]/5[3]4[3|4]|4] 3 |5|/6|/3|8|4|4]5|6]|6]| 47
29 1B H = 36 40 76 3.6 72. 4 513[5|5[3[4]3[4]4] 36 [4]7]5]5/4/3/4/4|@] 40
30 [FH>Y Edh 40 36 76 3.6 72. 4 5/4/6|/6|®@]4]3][5]5] 40 [4]5]3][5[3[3]/4]4]5] 36
31 H M&Ep — 40 36 76 3.6 72. 4 5/3/5|/5[3[5/4]/5]5] 40 [4]5[3][5/3/3/4/4/5] 36
32 PEH Jt1- 46 36 82 9.6 72. 4 6/3/6|/6/4[5]/6[6]4] 46 [4]5]3][5[3[3]4]4]5] 36
33 |kl Je 36 39 75 2.4 72.6 5/3/5|/5[3[4/3[4]4] 3 |5]5[/3]/5/4/4/5/®|5] 39
34 [FnH JtIE 39 36 75 2.4 72.6 @|4]5]5]3]5]3]6]4] 39 [4]5]3]5]/3[3]/4]4]5] 36
35 [ FH BrFs 45 36 81 8.4 72.6 713]7]6]4]14]5]4|5] 45 [4]5]3]5]3[3/4/4/5] 36
36 |fix [ IEJA 45 36 81 8.4 72.6 7135|654 ]4][6]5] 45 [4]5]3][5[3[3]/4]/4]5] 36
37 HY & 38 36 74 1.2 72.8 513/6|@[4]5/3[4]4] 38 [4]5[3]5/3/3/4/4/5] 36
38 R EZE 38 36 74 1.2 72.8 5/4|@|5]3]4]4][5]4] 38 [4]5]3][5/3[3]/4]/4]5] 36
39 /AR SRAE 44 36 80 7.2 72.8 6|3/5|7]4]5/4]/5|5] 44 [4]5]3][5/3/3/4/4|/5] 36
40 [ EFHE BRE 50 36 86| 13.2 72.8 6|4]7]/6[3[5]/6]7]6] 50 [4]5]3][5[3[3]/4]/4]5] 36
41 |EF 4 37 36 73 0.0 73.0 @D|14]6|5]/3]|5|/@]4]4] 37 |4]5]3]5]3[/3/4/4/5] 36
42 |[+H Fnb 43 36 79 6.0 73.0 6/3/8|6[3[5]4[4]4] 43 |4]5]3][5[3[3]4]4]5] 36
43 | PaEE ERER 43 36 79 6.0 73.0 2H =7FVE 2m22cm 713[5]7[3/4]4]5|5] 43 [4]5]3][5[3[3/4/4/5] 36
44 | HEFL FTA 43 36 79 6.0 73.0 6/3/6|/5/3[5/4[6]5] 43 |4]5]3][5[3[3]4]/4]5] 36
45 |[gK TaiE 36 43 79 6.0 73.0 5/3/5|5[3[4]3[4]4] 3 [5/7/4/5|/5/3/4|/5|5]| 43
46 |4 36 43 79 6.0 73.0 5/3/5|5[3[4]3]4]4] 36 [6]/6/3]/6|/3|5]/4|5|5] 43
47 |H E AEA 36 43 79 6.0 73.0 5/3/5|5[3[4]3[4]4] 3 [5/5/4/6/4/4/4/6|/5] 43
48 /bR B 36 43 79 6.0 73.0 5/3/5|5[3/4]3[4]4] 36 [5]/6/3]/8|3|3|5]/4]6] 43
49 | KB v 36 43 79 6.0 73.0 5/3/5|/5[3[4]3[4]4] 3 [5/6/3/6/4/3/4/6/6] 43
50 | ZEEYF JE— 36 49 85 12.0 73. 0 513[5/5[3[4[3[4]4] 36 [5]7[4[8[4/4]6/5/6] 49
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BEAE A B :20254F05 H25H (H)

S 1 SHY T RRNT 36,0 £of36. 0 PALA—n ouT3 4 5 7 8 9
ZaATH oy kb o8— 43 ZIMNE D BME48 N HMETAN BEFIGEA INI11 13 14 15 16 17
il —=  :0UT IN NERLIRTE FIE T4 Ao bRy

GROSS | HDCP NET  |owossme = 12000660 ® OUT HOrBOLOLO OIS IN
JEAE 72)][]%‘]5%% ouT IN PAR 5 3 5 5 3 4 3 4 4 4 5 3 5 3 3 4 4 5

Average 5.7 3.4 5.9 57 3.4 4.8 3.8 48 45| 42.(0 |45 56 3.4 58 3.6 33 46 46 56| 40.9

51 R, HPE 36 36 72] -1.2 73.2 12 =7E>® 2m7cm 5[3[5]/5[3[4[3[4]4] 36 |[5]@[3][5]/3]/4]/4/®]5| 36
52 |V MEEZ 36 42 78 4.8 73.2 5|/3|5|5[3[4]3[4|4] 36 [5|7]4]6]4]4]4|®|5] 42
53 1148 & 36 42 78 4,8 73.2 5/3/5[5[3/4[3[4/4] 36 [4/9]/3]/5]/5/3/4|®/ 6] 42
54 HE EHiR 36 42 78 4,8 73.2 5|/3|5|5[3[4]3[4|4] 36 [5|7|3|5]3|4]4][5]6]| 42
b5 | HEE % 48 36 84| 10.8 73.2 5/5/7]6/4/5]5[6|5] 48 [4]5/3|5[/3/3/4]/4|5] 36
56 | A4 7= 48 36 84| 10.8 73.2 6|/4]7]6[3]5|5/6|6] 48 |4]5|3|5[3[3]/4]4]|5]| 36
57 | H 36 48 84| 10.8 73.2 5/3/5|5[3/4/3[4/4] 36 |5/6/4]7]|6/4|5|/5/6]| 48
58 | B H ki— 35 36 71 -2.4 73.4 63@5|@|4]4][4|4] 35 [4]5|3|5[3[3]/4]4]5]| 36
59 P FH IE3C 36 41 77 3.6 73.4 5/3/5[5[3/4/3[4]/4] 36 |5/6/3/6/3[/3|5/4]6 41
60| BfA E& 36 41 77 3.6 73. 4 5|/3|5]5[3]4]3[4]|4] 36 |5/6|/3|6|/3]3|/4]/5]6] 41
61 /MK —F 36 41 77 3.6 73. 4 5/3/5[5[3/4/3[414] 36 [4]6/3/6/ 4@ 4]5]|7] 41
62 | H7 )1 I8 il 47 36 83 9.6 73.4 6/3]7]8[3]/6]4][5|5] 47 [4]5|3|5[3[3]/4]4]5]| 36
63 [ | PR 47 36 83 9.6 73. 4 6371713/ 6/4[6|5] 47 [4]5/3|5[/3/3/4]4]|5] 36
64 |HLH & 36 47 83 9.6 73.4 5|/3[5]5[3[4]3[4]4] 36 |5]|7|4]|7]4]4|5]|5]6] 47
65 | FTH T 36 47 83 9.6 73. 4 5/3/5[5[3[4[3[4]4] 36 [4]6|4|5[4]3|7]7]|7] 47
66 [7TN % 36 40 76 2.4 73.6 5/3]5]5[3[4]3[4]|4] 36 |5]5|/4]|5]4][3]4]5]5] 40
67 S ERE 36 40 76 2.4 73.6 5/3/5[5[3/4[3[4]/4] 36 |5/5/3|5/4/3/4]/5]/6] 40
68 | BEHE 36 40 76 2.4 73.6 5|/3[5]5[3[4]3[4]4] 36 [4]5|3|5[4[3]4]5]7] 40
69 ILUT 3k 36 46 82 8.4 73.6 5/3/5[5[3/4[3[4]/4] 36 |5|5/4/6/4/4/6/6|6| 46
70 ARl 77 36 46 82 8.4 73.6 5|/3[5]5[3[4][3[4]4] 36 [4]7]4]5[3[3|7]/6]7]| 46
71 5K B 36 52 88| 14.4 73.6 5/3|5|5[3/4/3[4|4| 36 |6/8|/4/8[4/4/6|6/6]| 52
121/NE JRZE 36 39 75 1.2 73.8 5]/3[5]5[3[4]3[4]4] 36 [6]5]/4]5[4][3]5|®|@] 39
73 AR fE 45 36 81 7.2 73.8 6/3|7|5/4/6|/6[4]|4] 45 |4]|5/3|5[/3/3/4]/4|5]| 36
T4 mfE BH— 45 36 81 7.2 73.8 6/3/6|/7]3[6/4][5]|5] 45 [4]5]3][5[3[3]/4]/4]5] 36
75 | B U5 36 45 81 7.2 73.8 5/3|5|5[3[4[3[4|4| 36 [4,7/4]10/4/3[4]|4|5]| 45
76 | HA BT 36 45 81 7.2 73.8 5|/3[5]5[3[4]3[4]4] 36 [5]5]4]7]4]3]4][8][5] 45
7T HESE B 51 36 87| 13.2 73.8 6|4/6|/7]5/6/6/6]5] 51 |[4]5[3[/5/3/3/4/4/5] 36
78 A F HEE 57 36 93] 19.2 73.8 6/3[8[8[4]7]6]7]8] 57 [4]5|/3|5[3[3]4]4]5]| 36
79 &7 1 36 44 80 6.0 74.0 5/3|5|5[3/4/3[4|4] 36 |5/6/3|7|4/3/4|5|7| 44
80 | K E A 50 36 86| 12.0 74.0 714]6]7]4]5]3][7]7] 50 [4]5|3|5[3[3]4]4]5]| 36
81 | KALR 1B 36 50 86| 12.0 74.0 5/3[5|/5[3[4/3[4]4] 3 |6]6[3[/8/3/3/7/7/7] 50
82 |k H E 36 43 79 4,8 74, 2 5|/3[5]5[3[4]3]4]4] 36 [5]/7]|5]/5]4|3|5[4][5] 43
83 |7k H #ME 36 43 79 4,8 74, 2 5/3|5|5[3/4/3[4|4| 3 |5/6/4]7/3/3/4|5/6]| 43
84 | H& EER 36 43 79 4.8 74. 2 5|/3]5]5[3[4]3]4]4] 36 [5|/5]4]/6]5|3]4][5][6] 43
85 &k —JA 49 36 85/ 10.8 74, 2 6/4/8|6|4/6/4|6|5] 49 [4]|5/3|5|/3/3/4]4|5]| 36
86 | I Y e 36 49 85/ 10.8 74. 2 5|/3[5]5[3[4]3[4]4] 36 |[5]6|4]7][6[3]4]7]7] 49
87|87 H 36 49 85/ 10.8 74, 2 5/3|5|5[3[4[3[4]4] 3 |5|7/3|7/4/4/5/6|8| 49
88 B % 55 36 91| 16.8 74.2 7141871466 7]6] 55 [4]5|/3|5[3[3]4]4]5]| 36
89 | T2 ki 42 36 78 3.6 74. 4 713/6/5]4]5|3|5/4] 42 |4]|5/3|5/3[3/4]/4|5]| 36
90 B0 Fnc 48 36 84 9.6 74. 4 714]9]6[3]4]5][6|4] 48 [4]5|3|5[3[3]4]4]5]| 36
91 |k F$5 48 36 84 9.6 74. 4 5/5[717]/@/6/6|/5]5] 48 [4]5[3[5/3/3/4/4/5] 36
920 & 36 54 90| 15.6 74. 4 5/3[5|5[3[4]3[4]4] 36 |6]8|5|7]|5/4|/6]7]6]| 54
93 FfIL fBs— 41 36 77 2.4 74.6 713[5/6[3[5|4/4]/4] 41 |4]5/3|5/3[3/4]4|5]| 36
94 ¥E/K 5 =] 36 41 77 2.4 74. 6 5/3|/5]5[3]4[3|4]/4] 3 |5/6/3|5/4|3[5|®]7]| 41
95 xRk 47 36 83 8.4 74.6 6419|6354 |5|5| 47 |4|5/3|5|/3/3/4]4|5]| 36
96 | KFF FxK 47 36 83 8.4 74. 6 5/3|/6|5[3/8|6[6|5| 47 [4]5|3|5[3[3]/4]4]5]| 36
7 [KAE =kt 36 47 83 8.4 74.6 5/3|5|5[3/4[3[4|4] 36 |5/8|4/6|@ 47|47 47
98| +H &bz 40 36 76 1.2 74. 8 6|/4]6|5|@|5]3[5]/4] 40 [4]5|3|5[3[3]/4]4]5]| 36
99 |[fEx K #UR 46 36 82 7.2 74. 8 6/4/6|5/4]6[4|7|4] 46 |4|5/3|5|/3/3/4]/4|5]| 36
100 Fe o)1 {7 52] 36 88| 13.2 74.8 714717616/ 5]5]5] 52 [4]5[3][5/3]/3/4/4/5] 36
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HA B :2025/5/25 17:19
kb 7
BEIfEAEH B :20254E05 H25H (H
B R g A RN T D HPES6.0 36,0 LA — T3 4 5 7 8 9
2aTH ey ke 43 BN BIE148 A T A A EFI5EA IN11 13 14 15 16 17
i —=2  :0UT IN NERLIRTE FIE T4 Ao bRy
i 1l 2 @@ B 6 @B 0O 10 12 ® @ ® @ @ 18
GROSS | HDCP NET | owossie OUT IN
JEAE 72)][]%‘]5%% ouT IN PAR 5 3 5 5 3 4 3 4 4 4 5 3 5 3 3 4 4 5
Average 5.7 3.4 5.9 57 3.4 4.8 3.8 48 45| 42.(0 |45 56 3.4 58 3.6 33 46 46 56| 40.9
10151 A% 36 39 75 0.0 75. 0 5[/3[5]/5[3[4[3[4]4] 36 |5[5[4[5[3[/3]/5/®][6] 39
102\ FLI AFn0 36 45 81 6.0 75.0 5|/3]5|5[3[4]3[4|4] 36 |[6]|5]4]7]4|3]|6|4]6]| 45
103| =J5. Fugk 57 36 93] 18.0 75. 0 713181947577 57 [4]5]3[5/3/3/4/4/5] 36
104| A8 $52E 44 36 80 4,8 75. 2 6|4 7|5]4]6|®@]6]4] 44 [4]5]3]5[3[3]4]4]5] 36
105 THFf 2% 36 44 80 4,8 75. 2 5/3[5|/5[3[4/3[4]4] 36 |[5|@[4]7/3/4/5/5/7] 44
106/ /NG Sfi— 50 36 86/ 10.8 75. 2 6|5/6|/6/4]6|5[7]5] 50 [4]5]3][5[3[3]/4]4]5] 36
107 fEA 2l 50 36 86/ 10.8 75. 2 5471648547 50 [4]5]3[5/3/3/4/4/5] 36
108 5W =15 36 50 86/ 10.8 75. 2 5/3/5|5[3[4[3[4]4] 36 [4|@|8]7]4]4]7]7]5] 50
109|778 F5— 56 36 92| 16.8 75. 2 715/6/8[6/6/6|/5]7] 56 |[4]5/3[/5/3/3/4/4/5] 36
10| [0 F Bz 43 36 79 3.6 75. 4 5|7 715]3[4]4]4]4] 43 [4]5]3][5[3[3]4]4]5] 36
11128 52 49 36 85 9.6 75. 4 8149|544 ]6]5/4] 49 [4]/5/3/5/3[/3/4/4]5] 36
TR 49 36 85 9.6 75. 4 6/6|5/6[5/5]4[7]5] 49 [4]5]3][5[3[3]4]4]5] 36
13| R 36 49 85 9.6 75. 4 5/3[5/5[3[4/3[4]4] 36 |6]7]4]7/5/3/6/4]7] 49
1147 BEA 36 49 85 9.6 75. 4 5/3/5|5[3[4[3[4]4] 36 |6]6]3]6[3[4]7]6]8] 49
115 A e 36 55 91| 15.6 75. 4 5/3/5|/5[3/4/3[4/4] 3 [6/7/5/8/6/5/5/6|/7] 55
116/yT | 48 36 84 8.4 75. 6 715]/6]6/5|5]5/4|5] 48 [4]5]3]5]3[3[4]4]5] 36
117 #N e 5A5E 48 36 84 8.4 75. 6 7141671364/ 6|5] 48 |4]5/3|5/3|3[4]/4]5]| 36
18] &V i+ 36 48 84 8.4 75.6 5/3/5|5[3[4[3[4]4] 36 |5]7]5]6/4[3][5]/6]7] 48
11931l F]— 36 54 90| 14.4 75. 6 5/3[5|/5[3[4/3[4]4] 36 [4]7]4]/8/5/4/6/6/10] 54
120 AT FelfE 47 36 83 7.2 75. 8 713]18]6[3|7]4]5]4] 47 |4]5]3]5]3[3[4]4]5] 36
121|354 Ak 53 36 89| 13.2 75. 8 9/4|/7/6/6|5[5/6|5] 53 |4/5[/3|5/3/3/4]/4|5]| 36
122/ 4§z 53 36 89| 13.2 75. 8 714]6|6]5]7]/6]/6]6] 53 [4]5]3[5/3[3]/4]/4]5] 36
123 =5 H— 36 53 89| 13.2 75. 8 5/3/5|/5[3[4]3[4]4] 3 [6/8/5/6/7/4/6/5/6]| 53
124 i % 52 36 88| 12.0 76.0 8l4]/6|6|4|5]4|8]7] 52 |4|5[3|5[3|3]4]4]5] 36
125|857 4 I 36 52 88| 12.0 76. 0 5/3[5|/5[3[4]3[4]4] 3 [5/6/4/7/7/3/6/6/8] 52
126| bR &4 2= 36 45 81 4.8 76. 2 5/3/5|5[3[4]3[4]4] 3 [4]8]6|/5|/3|3|5]4]|7] 45
127] )UK BE 51 36 87| 10.8 76. 2 813|7|5/5]7]/4]6]/6] 51 |4/5/3/5/3[3/4/4|5] 36
128K% E£HH 36 51 87| 10.8 76. 2 5/3/5|/5[3[4]3]4]4] 3 [6|/7]/6]/7]|5/4]6]4]6] 51
129|7%3) 15+ 36 51 87| 10.8 76. 2 5/3/5|/5[3[4]3][4]4] 3 [7/7/5/7/4/4/5/6/6]| 51
130 FEFH FoHl 36 51 87| 10.8 76. 2 5/3/5|5[3[4]3]4]4] 3 [4]6|5]|7]4]6]/6]4]9] 51
1313 — 5% 50 36 86 9.6 76. 4 8l4]/6|7/4]6]4]6]5] 50 |4/5/3/5/3[3/4/4|5] 36
132 SEAK IESF 56 36 92| 15.6 76. 4 715/9]7]4]6[5][7]6] 5 |4]5]3]5[/3[3]/4]/4]5] 36
133 /vy BEfEfR 56 36 92| 15.6 76. 4 8148|837 ]5]7/6] 56 |4/5/3/5/3[3/4/4|5] 36
134/ AR & 36 49 85 8.4 76. 6 5/3[5|5[3[4[3[4]4] 36 |5]5/5/8/@ 4/8]6]7] 49
135|FHH K+ 54 36 90| 13.2 76. 8 814]10/8/3]5|5]6|5] 54 |4/5/3/5/3[3/4/4|5] 36
136|[E5 i A = 54 36 90| 13.2 76. 8 71418]9]4][7]4]5]6] 54 [4]5]3]5]3[3]/4]/4]5] 36
137N 36 54 90| 13.2 76. 8 5/3[5|/5[3[4]3[4]/4] 3 |[5/7/4/9/5/4/6/5|/9]| 54
BRIV NBREE S 53 36 89| 12.0 77.0 716 7]7]4]6|5]6]5] 53 |4]5]3][5[3[3]/4]/4]5] 36
139| BLAT = 36 52 88| 10.8 77.2 5/3/5|5[3[4]3[4]4] 3 [5/9/6/6/4/4/6|/5|7] 52
140] BB Fofst 51 36 87 9.6 77. 4 6|4/8|5[/3/9]6][6]4] 51 [4]5]3]5/3[3]/4]/4]5] 36
141 K B 57 36 93| 15.6 77.4 7571714716 8]6] 57 |4]5]3]5/3[3/4/4/5] 36
142/ FR — 50 36 86 8.4 77.6 6|3[13]7]3][5]4[5]4] 50 [4]5]3][5/3[3]/4]/4]5] 36
143 2R 11 PR 36 49 85 7.2 77.8 5135|5343 [4]4] 36 |7]8]4]5/3/3/7/4/8] 49
144 H TR 36 54 90| 12.0 78.0 5/3[5|/5[3[4]3[4]4] 36 [6]/9]4]/6]/9]/4]6]4]6]| 54
145 /N5 BT 59 36 95/ 16.8 78. 2 7/5]8J10/7]/6|6|5|5] 59 |4]5]3]5[3[3/4/4/5] 36
146 | fEEE 1E— 52 36 88 9.6 78. 4 6|4]7]/6[3][6[10[5]5] 52 [4]5]3][5/3[3]/4]/4]5] 36
147 S 5L 57 36 93] 14.4 78.6 9/5/6/6/4]/6]/6]7/8] 57 |4/5/3/5/3[3/4/4|5]| 36
148| R IFy [z 36 57 93] 14.4 78. 6 5/3[5|5[3[4[3[4]4] 36 |7]7]4]11]5]4]5]7]7] 57
149 4R ok 50 36 86 7.2 78. 8 7/5]/6/5/4/8|6|5]/4] 50 |4]5]3][5]/3[3/4/4/5] 36
150 H A EA 36 54 90/ 10.8 79.2 513[5/5[3[4/3[4]4] 36 [7]6/6/6/3/5/6/7/8] 54
3/ 4 EEERD M —{REE
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HA B :2025/5/25 17:19

BRfEAEH B :12025%E05H25H (H)
AT D HMES6.0 P36, 0 BLA—nL 0UT3 4 5 7 8 9
2aAFTH kb PN c BHEL48 AN META IN11 13 14 15 16 17
=2 — = NERLIRE F ik« T4 T RNy
i = 1 2 §) 10 12 18
cross | HpCP % 1 @ ® G @ ©® out @12 ® @ ® ® @ N
N K4 OUT IN PR 5 3 5 5 3 4 3 4 4 4 5 3 5 3 3 4 4 5
Average 5.7 3.4 5.9 57 3.4 4.8 3.8 48 45| 42.(0 |45 56 3.4 58 3.6 33 46 46 56| 40.9
i) 62 36 98] 18.0 8/5/8/10/6|8|4|7/6| 62 14/5/3|5/3/3/4/4|5| 36
‘A 64 36 100 19.2 8/5/11/8]4/6/6|9|7| 64 4/5/3|5/3/3/4/4|5| 36
#x H 36 59 95 13.2 513|5|5/3/4|3|4|4| 36 |6|8|4/11/5|3|5|6/|11] 59
)1 B 81 36 117 20.4 11/ 5|11]12|5(12/6|11/8| 81 |4|/5/3|5|3|/3/4/4|5| 36
— 36 36/ —28.8 51355131413 1414, 36
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